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2017
ECONOMICS — HONOURS
Fifth Paper
(Group -B)

Full Marks - 50

Candidates are required to give their answers in their own words as far as pracricable
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The figures in the margin indicate full marks

Section — A
( Marks - 20)
Answer any five questions 4x5
Mention two dissimilarities between private finance and public finance.
What is the distribution function of the state ?
What do you mean by tied grant and matching grant ? 2+2
Distinguish between national and local social goods.
What is the difference between conventional budget and cash budget ?
Compare between unit tax and ad valorem tax. Give example.

7. Define non-tax revenue resources. What are the major non-tax revenue
resources in India ?

I e

8. What are the instruments of stabilization policy ?

Section - B
(Marks - 30 )
Answer any five questions 6%5

9. Explain the regulatory function of the government and its economic
significance.

10. “Efficient provision of social goods involves vertical rather than
horizontal addition of individual pseudo-demand schedules”. Explain your answer.

11. Define public goods. What are the basic reasons for market failure in
the provision of public goods ? 2+4

12. Explain the concept of functional classification of budget.

13. Derive the fiscal multiplier due to change in government expenditure
under the following two situations :
(i) Taxes are of lumpsum variety,
(ii) Taxes are proportional to income.
14. What are the effects of income tax on work effect of an individual ?

15. What is GST ? Will GST be a better option for India in lieu of the
existing indirect tax structure 7 2+4

16. Does public debt create burden for future generations ? Give arguments
in favour of your answer.
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